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(Answer & Explanation)

Qnl. Answer: (b) 2 only
Explanation:

e Low-pressure system over Iceland that facilitated the movemeht of. warmer air from lower latitudes
into the Arctic.

Qn.2 Answer: (d) 2 only

Explanation:

Statement 1: Incorrect. Adaptationexpéenditures focus on adjusting to climate change effects,
while reducing greenhouse gases pertaiis'more to mitigation.

Statement 2: Correct. Adaptation,expenditures aim to help vulnerable communities, sectors,

and regions cope with climate.Ghange impacts like extreme weather, rising sea levels, and
changing agricultural patterns:

Statement 3: IncorrectSAdaptation expenditures are often ongoing, involving continuous
measures and investments to build long-term resilience to climate change..

Qn.8Answer: (b) 1& 3

Explanation:

Statement 2: Incorrect. The first Sahitya Akademi Award was presented in 1955, but not to
Rabindranath Tagore. The award went to the noted Malayalam writer, Thakazhi Sivasankara
Pillai, for his novel "Kayar". Tagore, while being a major literary figure, did not receive the first
award.
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Qn. 4 Answer: (a) 2 &3

Explanation:

e o Statement 1 (False): GAME is not limited to urban areas; it aims to promote mass
entrepreneurship across both urban and rural sectors, fostering entrepreneurship in diverse%

regions of India.
O

e Statement 2 (True): GAME focuses on building a network of partners, includi ‘\Iic and
private stakeholders, to foster mass entrepreneurship and inclusive growth acr

e Statement 3 (True): GAME has support from various government ini %!and is designed
as a platform to build an ecosystem for developing, nurturing, and sca repreneurship.
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